Economics
Paper III

AT

gyutseRt 11
Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This paper contains Seventy Five (75) multiple choice questions, each
question carrying Two (2) marks. Attempt All questions.

AT : A1 YeUIehd TR UeEar (75) dg9aidl o9 fooiel ofRd. Ui Teen & (2)

0 . W e dre.

Suppose that a bond sells for Rs. 400.
The bond returns either ( Rs. —120)
or (Rs. 200) with equal probability.
The expected return of the bond
is :

(A) 10%
(B) 20%
(C) 30%
(D) 40%

At certain level of output the
marginal product of labour (MPy ) is
8 and the marginal product of capital
(MPy) is 10. If the firm adds one unit
of labour, but wants its output to
remain the same, the firm should
reduce units of capital by :

(A) 10
(B) 0.8
(C) 1.25
(D) 1.00

TuSTT Wl Tl fast feaa 400 .
AR, I YR (—120 %.) foa
(200 %.) o9 WdEr Hevarst wHE
YRRl 3R, AT YA 3TUfard aXdren
T ST A :

(A) 10%

(B) 20%

(C) 30%

(D) 40%

AT fafeTse uraeien A dr
ScqE el (MPp) 8 318 S0 Higeer
= 3T ®A (MPg) 10 378, SR
AN AfHeRT= WIS ek I Sgae
7O ST SIeT= Udedl feer
AT 8, R SUNEEEE Jigad
SAFT HEA AT Hdel A ¢

(A) 10

(B) 0.8

(C) 1.25

(D) 1.00
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In the kinked demand model, if the
demand shifts rightwards due to
change in market conditions, the
price :

(A) will remain unchanged
(B) will increase

(C) will decrease

(D) may increase or decrease

Williamson’s Managerial utility
function does not include :

(A) S = Staff expenditure

(B) M = Managerial emoluments
(C) mp = Discretionary profit

(D) Iy = Discretionary investment

Assertion (A) : In Cournot’s model
both firms producing monopoly
output is not Nash equilibrium.

Reason (R) : Because firms do not
make binding commitment to
produce the agreed output.

(A) Both (A) and (R) are correct
and (R) is a correct explanation
for (A)

(B) Both (A) and (R) are correct and
(R) is an incorrect explanation
for (A)

(C) (A)is incorrect and (R) is correct

(D) (A)1is correct and (R) is incorrect

3.

M 3] HETU ke FiaHId
aTeR gfRkferdiqe sk Anrl g
ISdtehe AR Fel, R fhud .
(A) AR R

(B) ded

(C) w#t 2R

(D) ded foran wHl B

fafaaaE—T=a1 FaEemIhid ST fITdl
oA Il GHEY B AT

(A) S = HHIEEA TH

(B) M = ogMUHhg Hiegel

(C) np = T=BHelh ThI

D) I = E=smersh Taau

faam (A) : sAf=n fgStaerr=n
GITHMT SF STURTHEAT FRiai 3G
L B AL A Tl

~

&ROT (R) : &R0 Rfadd Icured
AT Th! SIfHcToh! STNTHET il
eI

(A) (A) @rfor (R) ST sRIsR 3701 (R)

T (A) F T TAEHI
(B) (A) a0 (R) SF&! sleX &A1 (R)
T (A T FHY TRIH
(C) A) T & A0 R) & TN
(D) (A) T SR 30 R) § Ih
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If workers substitution effect for
leisure is larger than income effect

when wage rate rises :

(A) Labour supply curve will be
backward sloping

(B) Labour supply curve will have

usual upward slope

(C) Labour supply curve will be

horizontal

(D) Labour supply curve will be

vertical

The greatest good for the greatest
number is a dictum associated with

the name of :

(A) Alfred Marshall

(B) Nicholas Kaldor

(C) Jeremy Bentham
(D) A. Bergson

Perfect competition achieves a
Pareto optimal allocation of two

goods between two people because :

(A) Both of them have same

preference
(B) Both of them face same price

(C) Both of them consume the same

quantity of both goods

(D) Goods are homogenous

e SeedTeR STHeRT SARHE IId
TR 3o gfomHET e S 3Td
qa¥

(A) gfHeT=1 qael 9% AR T3
gl

(B) #fHehi=A1 Qi Toh "eHIEREN =&

SO 319l

(C) sfishrn aar o fafasr aam
gl

(D) sifHehr=n qiaal o fafasad saar

' ST ST TATeh ™ TR ST SheaToT

T T AreA Rl gEiid o
(A) ke Al

(B) THenictd hleeX

(C) SRt dem

(D) T e

U1 TG S & | SR B0
aey W& 39 IFEd HAU

(A) TG 99T T9F 3 T9d

(B) foudt S T9H ST9ad

(C) SEEl SR IR WHM "
SUHNT BdTd

(D) 9] UshiSEl THdw
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10.

11.

Prisoner’s dilemma is an example
of :
(A) Sub-optimal solutions in Game

Theory

(B) Mixed strategy in Game
Theory

(C) Saddle point solution in Game
Theory

(D) Zero sum game

W. Leontief’s name is associated
with :

(A) Input-output analysis

(B) Game theory

(C) Linear programming

(D) Non-collusive oligopoly
Match the following and select the
correct answer from the codes given
below :

List I List II
(@) A. C. Pigou (1) Statistical Cost
Analysis
(b) J. Johnson (ii)  Laws of Returns
under competitive
conditions
(¢) J. Robinson (iit) Economics of
Imperfect
Competition
(d) P. Sraffa (iv)  Economics of
Welfare
Codes :
(@ @ (@ @
A @ @ @) G
B) Gv) @) @ @
C @ @ @) (o)
M) @) @) G @

10.

11.

LY o N
ch ell=dl [dch Yl % SqledVl Hid

(A) U= THgdel SUgtEdH HIges

(B) U= fHgda Ay gt
(C) Ees fagrardial @it foig

(D) T /S ©es

e

(A) SEH-YeH feargetemo

(B) @z fagr

(C) T kA

(D) Srefed SACUSHIEHRR

Eeitel Sirea e ST feeiedn HehdTgd

g I faer

List I List I
(@ T . oy () e e e
() S S Gi) o waden uffeerdde
SR G

() 3. o= (Gii)  oTol T stefumey
@ T §F (iv) ey ST
Hehd :

@ & © @@
A @ @ @) @)
B) @ G @ @
© @ @ @ Gv)
M) @ G @ @)
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12.

13.

14.

Suppose AB and CD are two
demand curves parallel to each other
and CD lies rightwards to AB. E and
E, are points on AB and CD
respectively at price and n, and n,

are elasticities at E and E; :

(A) nqy < ng

(B) ng < nq

(C) ny = ng

D) ny=ng9=1

A competitive firm’s supply curve is
its :
(A)
(B)
(C)

Entire MC curve
Rising part of MC curve

MC curve above the minimum

point of the AVC curve

(D) MC curve above the minimum

point of the ATC curve

Indifference curve derived under
Revealed Preference Theory passes

through :

(A) Superior zone

(B) Ignorance zone

(C) Ignorance zone to superior zone

(D) Inferior to superior zone

12.

13.

14.

TEST AB 3ftT CD § TShHSHI FHIKR
SFHUR < AETOR T MR AT CD
d AB =N Idi*e 8. E afr E,
T FTHH e fafire fehadien sm@om
AB 3701 CD =iiet foig 3ed & ny
A ny, @ E (01 E; s’ edlerehd
AR

(A) nq < ny

(B) ng < nq

(C) ny = ng

D) ny=ny9=1

WA IRREdG qEel 9% 8 3T
3

(A) §qvf e == a9

(B) HHI ©= okl d&d SO 91

(C) T sgcten wat=n fhar fogen

Tl AN @ g 9

(D) I Tk T T g fRAm

fogen alia HiH @==n 9

The TG THGTaEA hiecdl qHI!

gk T A HAYA S
(A) 93 Y4
(B) SAATd 9T

(C) A YU 93 YHNIhS

(D) BRI YUNTREA I3 YHNhS

[P.T.O.
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15.

16.

17.

Consider the budget line for
commodity X and Y drawn for the
situation :
200,
Py = 4 and Py = 8. Suppose X is
restricted at 25 units. The budget
line at 25 units of X :

(A)
(B)
©)

following market

Consumer’s income Rs.

will become flatter
will become steeper

will become steeper and shift

outwards
(D) the budget set will be cut-off

If investment function becomes

unresponsive to interest rate, then :
(A)
(B)
(®)

Fiscal policy becomes ineffective
Fiscal policy becomes effective

Monetary policy becomes
effective
(D) Both fiscal and monetary policy

are effective

If a growth rate of 10 percent is to
be achieved and the capital-output
ratio 4, then the savings rate should

be (from Solow model) :
(A) 30 per cent
(B) 20 per cent
(C) 35 per cent
(D) 40 per cent

15.

16.

17.

X 3707 Y et Ereitel sreiR aifeerd
ST hTEeiel STGTSTI=eh (o A&l =T
YRR S = 200 %, Py = 4,
Py = 8 &1 X o&@ 25 WM
FHfod el WX = 25 TR STETSTIAh
EC I

(A) 3Ty T9E B

(B) 3ifyer <@l ek

(C) oI =&l dsal AU ISfaihe
Thd

(D) SIETSII=hIdial ¥9 dReY Sdte
U SAQSIo® I e

SR T[Sk el SATSIRUE T e

oel, W e

(A) TSN R0 SIROMHSHRS 3T

(B) USThINE 4RO YROMHHRS S

(C) sk oo IRomHeRE oW

(D) TSN €Ro enfor Aifges R

& IS R0 URUMHERE AT
S 10 TFh JFIeY MW e 3
M Higal-3ced UK & 4 319,
W (HAr=AT YEUER) &9d ST 3aahl
SAHIAT Bl ¢

(A) 30 TFh
(B) 0 TFh
(C) 35 TFh
(D) 40 TFh
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18. Choose the right answer from the

options A to D given below :

Assertion (A) : In the classical
system, aggregate demand and
aggregate supply curves may never
intersect whereas in the Keynesian
system, they will always intersect
although not necessarily at the full-

employment level.

Reasoning (R) : The Keynesian
system has money wage rigidity
below full-employment level, leading
to an upward rising aggregate
supply curve. On the other hand in
the classical system, under full
flexibility of wage and price,
aggregate supply curve is a vertical

line.

(A) (A)isincorrect and (R) is correct
(B) (A)is correct and (R) is incorrect
(C) (A) is correct and (R) is correct

(D) (A)isincorrect and (R) is incorrect

18. @reht faeiedn A O D g A W

faer

faam (A) : sifyma defta ggdia TR

TR Seh ST WU XA ok TohHeh Tl

FHHF B AR W hw=A dgard d

TR W Bed W & wad foig

quf JSAIRI=AT IIaediell STHa= 3 @]

SHIOT (R) : 5= Tgaia qof IS

qTdc= Welt da &Y diek 3THard, ST

S Y3l sk Bl ClElhgd ISdlhe

T&d ST STl 91 3o fHa v

Ygdtd ada sfor fermdrd qoi Teren

e ThHY IXEal o @l fafdasiers

3T

(A) Q) TH T R) TR
(B) (A & A R) IH
(C) (A) =R 3 (R) s’

D) A) & o R) Ih

[P.T.O.
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19. Select the correct match for the

20.

following by using codes given

below :

(@) Capital inflow (i)  Franco Modigliani

() Human capital (i)  Robert Mundell
and growth

(¢)  Upper turning  (iii) Robert Lucas
point

(d) Life-cycle theory (iv) John Hicks

Codes :
(@ G (© @

A Gv) @) @ @

B) @) @ @ (v

©) @ G G @

D) @ @) @ (o)

If planned saving is greater than

planned investment :

(A) Output will increase

(B) Output will decrease

(C) Output will not change

(D) The effect on output will be

ambiguous

A o

19. et feeiedn Hehdiqd A et e ¢

(@) vicTamEn @ (i) el HifsiemEt
el
(b) W e e (i) e Hea
gL
(¢) &%= s foig (i) TR ogHE
(@) e e (v) W e
Hehd
@ & ©© @
A Gv) @) @ @
B) @) @G @ G
C) @ @) G @
M @O @) @ v

20. SR A F=a ASTd Jaeoenlua S
A, W :
(A) IEA oee

(B) 3SdGA ®A

(C) IR JSUR el

(D) ScTeATeRIe IR dferaar o8
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21.

22.

23.

Suppose real income decreases. This
will lead the equilibrium rate of

interest in money market to :
(A)
(B)
C)
(D)

decrease
increase
remain the same

either increase or decrease
depending upon the value of
elasticity of negatively sloping
money demand curve at initial
equilibrium.

In simple Keynesian economics, the
equality between savings and

investments is brought about by :
(A)
(B)

Rate of interest

Bringing the economy to full

employment level
(®)
(D)

Income
Reduction in consumption

According to Keynes, investment is

influenced by :

(A) Price

(B) Income

(C) Marginal Efficiency of Capital
(D) Wages

21.

22.

23.

TS Irdd Iq-1d TS STel. AT

Y= ISR e SATSie
(A) =+ B

(B) e

(C) = Ufgad

ST 1 hHT Bed © Hoo TRl
YU Y= WO ekt

(D)

e aehd= JedeR STacedd 3T

(Y= AT ek SO geurdEn
3TTe.)

e F1EAT YT e STIf07 T[defh

ATdiel THHEA AMHes TS I
(A) NI
(B) sref=aen qui ISR qikfeerdten

SO
(C) 3o

(D) SYHNTIIET =2

= Hd Tqeehiel AMHes qRUMH
Bl

A) T

(B) 394

(C) wiSaa=t HHM e

(D) oA

[P.T.O.
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24.

25.

26.

Keynesian cross refers to a diagram
having :
(A) Intersection of aggregate

expenditure and 45° line

(B) Intersection of consumption
function and investment
function

(©)

Intersection of investment

function and 45° line

(D) Intersection of export function

and import function

The ratio of change in income to a

change in investment is called as :

(A) Accelerator

(B) Consumption function

(C) Multiplier

(D) Marginal Efficiency of Capital

Given the consumption function :
C = 100 + 0.9Y

What is the multiplier ?

(A) 0.09

(B) 10.0

(C) 0.9

(D) 9.00

24.

25.

26.

= ATFAT TIeled od geiaeiel T9d

faen ‘&= wE' o8 ®Wed W4 :

(A) & RN 45° =1 I HE FALH-
T SO Yo 370 TeRor @

(B) 3N e S0 aaeh et ATl
# fag

(C) & AR 45° =T HIT HEA
STRVEIMATA SOy 3o srfun
delUeh Theld Frel B8 foig

(D) f7afd w7t e wer 3=
a1 fag

TAAUehidial seel 3T Ieq-dIa sga

I R =S

(A) h

(B) SUHNT el

(C) Uk
(D) WiSadr=l HHN wrEgHd

HST YN Tod 3T IS
C = 100 + 0.9Y

T TR oI 3 A
(A) 0.09

(B) 10.0
(©) 0.9
(D) 9.00

10
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27. Assume consumption function of an | 97
economy to be C = 30 + 0.8Y. C =30 + 08Y
Investment is Rs. 40 crore. Then, the TAaUh 40 RISt . TS 3T HHST. ST9m
equilibrium level of income is : ST UTdedt & Ul
(A) Rs. 700 crore A
(B) Rs. 350 crore (4) 700 FI T
(B) 350 =il %
(C) Rs. 560 crore (C) 560 e .
(D) Rs. 140 crore (D) 140 *IE T
28. Which one of the following saving | 28. WIeiicl sed HeHUeh! 63 Sod T
functions corresponds to the AU Uk 5 T8 318 IRl oM 2
investment multiplier of 5 ?
(A) S = -28 + 0.25Y
(A) S = -28 + 0.25Y
(B) S = —40 + 0.75Y (B) S =40 + 0.75Y
(C) S =-60 + 0.20Y (C) S =-60 + 0.20Y
(D) S = -75 + 0.60Y (D) S = -75 + 0.60Y
29. Less sensitive investment spending | 99 T[qEI[sh STSEe HH! T Hfaame
eri:a;gcz;;:t:erest rate, the IS 3 RA R IS 9F T
(A) Steeper (8) s et e
(B) Flatter (B) siferh weRe 2l
(C) Positive (C) = =l
(D) Zero (D) I Bl
30. Milton Friedman argues that | 30. fHeed WwieH==1 IfFae s/ 18 i
consumption is proportional to : I § AT YHURIR 378 :
(A) Taxes (A)
(B) Price Level (B) foud qraest
(C) Transitory Income (C) 3TEIRT 3=
(D) Permanent Income (D) 199 S
11 [P.T.O.
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31. The theory of unbalanced growth

was proposed by which economist ?
(A) Albert Hirschman

(B) Amartya Sen

(C) H. Leibenstein

(D) Hans Singer

32. Laws of Kaldor growth model
essentially exhibit relationship

between :

(A) Savings and investment in
economy
(B) Urbanisation and economic

development process

(C) Industrial growth and

development process

(D) Demographic dividend and

regional  disparities  of

development

33. How does economic development

process gain due to population

increase ?
(A)
(B)
()
(D)

By demand induced investment
By rapid urbanisation

By increase in productivity
By

institutional framework

strengthening of the

31.

32.

33.

sdferd Jaran fagra vt Areen ?
(A) e e

(B) ™ &

(C) TA. AT

(D) B TR

el g5t Yfaammde fam € god:
A FeY SRiferdE ?

(A) I a=d S I[AIeh

(B) Ao smfor srifefsr fosRmar=it
ke

(C) sirifen Far smfor fowme wferan

(D) TREEAHS oY ST feaehrardicl
e fereh oo

amfefer faepramea ufsRaen oshde

AEHeS HAT MY Tl ?

(A) AR IART T[AAIh oS

(B) M AFRIHIUMHeS

(C) SHREhddlel AEHes

(D) TEATHE Dh= TEIhIUMeS

12
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34. The practice of ‘Big Push’ approach | o, frrgey RS Tl e SRR
in the development strategy helps :
P 8y heip AR Y YA A ?

(A) in mobilizing idle savings for

investment (A) TAaUERER wha s=dt T
(B) reducing inter-regional hE

disparities of development B) fowrarda gefires fosmar =+
(C) in reducing divergence between e

the private and social returns

(C) TAaUieRial @S d |

on investment . ﬁ
ATIHETA THEd ] hed

(D) in opening markets for

agricultural produce (D) VAHATHIS! SSIRUST Tl h&

35. Match W. W. Rostow’s stages of | 35. T Ir=n fasmr=n o= o=

eFfarafeft S oen

growth with their implications :

(e¢)  Traditional (€3] Application  of
modern technology (@) URUR® (i)  onyfTe THRHAMET AR

(b) Transitional (z1)  Self-sustaining ®) . - D) 3 i QT&;T

economic growth

(¢) Take-off (iii) 10% of GDP invested () g™ (iii) & TR TS
for self-sustaining of FH 10% T T
growth

(d)  Maturity (fv) High proportion (d) e (fv) e =t e e et
of work-force in FH AT

subsistence agriculture

(@ & ©© @

sector

@ ® © @ B O G G )
B O G G ()
® @) O @) G
© G G @ G © @ @

B) @ @ @) @)

D) G ) @ @) D) G G @ @)

13 [P.T.O.
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36.

37.

Which of the following is the major
limitation of the ‘Big Push’ type of
developmental strategy ?

(A) Lack of foreign exchange
earning

(B) Resources of required scale not

available
©)
D)

Inadequate flow of FDI

Lack of political will on the part

of Government

“Given a limited amount of
investment resources and a series of
proposed investment projects whose
total cost exceeds the available
resources, then we need to pick out
first those projects that will make the
greatest contribution to development
relative to their cost”. Which of the
following approach/strategy/doctrine

is relevant in the above scenario ?
(A) Big Push

(B) Critical Minimum Efforts

(C) Balanced Growth

(D) Unbalanced Growth

36.

37.

faeshTd sgemela ‘Higl eeehl’ &l

JehRIad JH@ HIQl v ?

(A) ool =T ST JHIOMG HHTS

(B) YN HISA STHIIE A STcTed
GRs

(C) focel Joaet Taauehi=n 31U Yam8

(D) ITHATAT SIS USRI ZoTeRi =l

STH T

Tdeueh R HAfed SRR SUeTeY

AT A0 THU T Iqesd -

el STfesh STHaidl 9¥d T[ddueh

YehoqT=] HIfeTehl STHAMT, W SATqedet

JIH o Johod o AN & =

c haN o (o ~
= goid fasemrd gaid |ie dreH

F®  ITHAId. BTATAdRT  HIUTdT

gfteehlF/ogg/dwe aiiet aiferdiaes 3fed
A ?

(A) |13 ¥aRt

(B) i IAdH I

(C) Hqfaa Iat
(D) TEqfed g8t

14
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38. The indicative ceiling of 39.5% of | 38 gz W= TR HeGelTq T Tdl
Centre’s Gross receipts as transfer AR STeq e SO Hegemet 39.5
to States from all channels is ST I YAF FA TR Horen o
recommended by : AN TRRg Selt ?
(A) Tenth Finance Commission (A) <@l fam e
(B) Eleventh Finance Commission (B) 3mehyen fom =
(C) Twelfth Finance Commission (C) sRyen fo STEm
(D) Thirteenth Finance Commission (D) auen fo s
39. The 80th Amendment of the | 39. WX THFeT=A 80 TEKIHS D5
Constitution facilitates sharing of afor Toamed Fven fede Hegeren
the net proceeds of : e 9 Tl ?
(A) All Central Taxes (A) T8 T FT=
(B) All Direct Taxes (B) ¥4 gIY H{=AT
(C) All Indirect Taxes (C) ¥d AYT FHT=AT
(D) Goods and Services Tax (D) o] & Al HUA
40. Distributive effects of taxes are 40. HU= faquoners oo "o w1 ?
called :
(A) Burden of Tax (&) TR
(B) Incidence of Tax (B) T A
(C) Budget Incidence (C) wrefgehedia arurd
(D) Least Burden of Tax (D) &= HHEd HH 9N
41. If the effective Revenue Deficit is | 41. <X gur&} Hggqﬂ T I A, W ‘{:rTJf
zero, the entire Fiscal Deficit would TSRS G RV eiar @E el
be spent on : S ?
(A) Non-plan Expenditure (A) I @d
(B) Total Revenue Expenditure (B) THU Wegel @
(C) Capital Expenditure (C) viedet g
(D) Non-plan Revenue Expenditure (D) ASHE Hs{iqﬂ G
15 [P.T.O.
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42.

43.

44.

Which one of the following is not
reckoned in computing Central
Government’s Fiscal Deficit ?

(A) Part of National Small Saving
Fund which has been invested
in State Government’s Securities
External Debt

(C) Cash Management Bill

(D) Market Loan

During the period 2010-11 interest
payments as proportion to net tax

(B)

revenue of Central Government
was :

(A)
(B)
©)
(D)
A

42.9 percent

46.7 percent

41.1 percent

38.9 percent

:Mercantilists believed that
all countries can prosper
simultaneously.

‘B’ : Mercantilists believed in trade
restrictions and export growth.
Make the correct choice :

(A) Statement ‘A’ is correct and
statement ‘B’ is incorrect

(B) Statement ‘A’ is incorrect and
statement ‘B’ is correct

Both statements ‘A’ and ‘B’ are
correct

Both statements ‘A’ and ‘B’ are

incorrect

(©)

(D)

42.

43.

44.

g LRI TSIl qerd Teierdeh]

M MO shedl STd @ ?

(A) T STeqd=drdr 9 Sl T
R gfayfad T[aaen Sl

(B) foeeft =i

(C) @ FIUHEF TIA

(D) &SR sl

2010-11 1 I8 hg W= fedes

Hegar=A fohcll 2ofh AT fTaH BId ?
(A) 42,9 T
(B) 46.7 TFh
(C) 41.1 =
(D) 38.9 TFh
‘A’ ARSI oT9 favard e &t

qd W UHE T WHS TS Ik

‘B’ : SNSRI AR == ea1for i

gfger fogamrg .

oy fae & .

(A) faum ‘A’ seR 3R fur faum B’
h 3T

(B) foam ‘A’ = 31§ 3T faer B’
ERETEIF

(C) A &ffor B & <=l faum silsy
FRd

D) A s B & = faum =g=
FRd
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45.

46.

Predatory dumping is :

(A) Dumping of agricultural
products abroad

(B) A response to other country’s
dumping

(C) A temporary sale of commodity
at a lower price abroad in order

to drive foreign producer out of

business
(D) Decreasing the dumping duty

to increase a country’s exports

Constant elasticity of substitution
(CES) production function exhibits :
(A) A of

substitution between labour

constant elasticity

and capital

(B) A constantly varying degree of
of

between labour and capital

elasticity substitution

(C) Constant and unitary elasticity

of substitution between labour

and capital

(D) Varying degree of elasticity of
substitution between labour
and capital based on the

marginal quantities

45.

46.

wWgHYEl e WIS
(A) Ft IHREATE TSI TGS H0!

(B) THAT IMAT STEYSHE FfqdR

(C) 9TRRM STURHTH TSR E S

STl S 3Teq fehmeig
LISeGIMEET]
(D) <em= faid are vaEdt SaysH

gesk  HHT HI

T 3T ol FeeR Toriiehd 318

(A) 9| Tfor viead gatad=t feer
Aafehdl

(B) &9 3701 sisad gaiadl aafaehds

ATIAd IGAUR. FHTOT

(C) =19 37for vigaeT gaa=n feer anfor

Teheh oTdlgehal

(D) &9 37fo Yreaar=a1 HHd qEier

YT HAI SeAU Il

KEIEEX
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47.  One of the significant impacts of the | 47, wraren wfwa =R dRuTEde SIS

WTO on India’s Foreign Trade

YR e Teh Hgcar=l RomA o741

Policy is :
IR
(A) Reduction in the peak import
duty on non-agricultural (A) Fears a0 T@EeEn X

products to 10 per cent along
with phasing out of quantitative

restrictions

(B) Reduction in the peak import
duty on agricultural products (B)
to 15 per cent along with

quantitative restrictions on

agricultural imports

(C) Reduction in the peak import
duty on non-agricultural ©
products to 15 per cent along

with phasing out of quantitative

restrictions

(D) Reduction in the peak import
(D)
duty on technology to 15 per cent
along with allowing quantitative

restrictions

O SREH TR FH SR

SoIqH ST Yok 10 THRIaEd
HHT R

FE AT A G BATHS

fraaToaEid Sl IcurgAT=A1

STl I=aa9 G Yesh 15

SFFIIId AT HI0)

G&ATHS A0 THCH T hIv]

FUaE fam Fsi IcagAT=a

STl I=a9 A Yesh 15

SFFIIId AT H0)

F&ITeHs,  fAIATEEd wed

TAAHIERI Sodad 3T Yok 15

SFFNTIId AT HT0)
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48. As a member of the WTO : 48. ST SATUR  WEAWl WS AT
(A) A country can refuse to bind a S —
tariff rate on a commodity and .
it does not need to promise the (A) < TEen T Yoh X PR
member countries about the ATRTE TRl MU FEH <wHl
tariff on that commodity qaefld aEaia YoheUdgHid
(B) A country binds a tariff rate by S HUATE] Il =l
committing that it will not raise (B) 291 Yeheiame el e 39
tariff on that product beyond .. n e
Haeid IR Yfoh R e
the bound level
(C) A country does not need to bind T T SR T <l
itself about the tariff rate on the (C) Il YeoheR ool T o
product and it has the freedom AT STERIhAl T ST T
of raising tariff according to its foshrafaTae MR HITER J[eshel
developmental priorities v T AT
(D) A country binds a tariff rate by . ..
committing that it will not raise @) = Sl?m: R ‘a_{i W%ﬂ_i[
tariff on the inputs of that ST Y[eeh ] Al ATl
product FH T <l
49. An optimum currency area refers | 49 wgiQg Sy T wFd
to :
(A) A group of nations who enter (A) JUME AR hTUSTA QR
into preferred trade agreements M THA 0
(B) A group of nations whose (B) I o1 W H = T
currencies have permanently L.
fixed exchange rates fafma < FrEmEsdl e S9dard
(C) Nations in customs union who (C) THM I STaLom=a1 <9I e
use a common currency S
(D) Nations with multilateral trade
agreements (D) FgeRT AR HIRSAT <9
19 [P.T.O.

v StudentBounty.com



http://www.studentbounty.com/
http://studentbounty.com/

50.

51.

In a managed floating exchange

rate system :

(A) Nation’s monetary authorities

will intervene in foreign
exchange markets to reduce
short-term volatility

(B) Only a common monetary

authority of nations can

intervene in foreign exchange

markets

(C) Exchange rate fluctuations are
moderated by using monetary
policy

(D) All nations accept the market

determined exchange rates

The Cash Reserve Ratio (CRR) is
used by RBI to................ .

(A)
(B)

Influence the cost of credit

Lower margin requirements in

the stock market
©)

Influence the commercial
banking system’s volume of
credit

(D) Encourage savings in the

economy

50.

51.

o o

eI WA fafma R gsdia

(A) STTIRTAT TE3aR HHI HLTIATHLU
2y fodia Afuerr Ao facstt

faf e I s999 S

e <N 9 foxia sfuer
Tees faosn fafmra semE say
EXG

(B)

oo

(C) Tdl
U= WREH W sl S

1Y Ui Je3diia Higlh

(D) wd T aeR Hiv=a fatma <=

TR A

IR Rered Sehehe I TEie IO

(A) FHel=a AR YoMy &Io

(B) YR SN HAfel TR H290)

(C) SATIRI Sehi=al TR sheliak IROM

ETU

(D) ST dEdil TS <Oy
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52.

53.

54.

The bank rate of the RBI is used
to :
(A) Influence the prime lending
rate of banks

(B) Control the saving rate in the
economy

(C) Reduce unemployment in the
economy

(D) Control the inflation rate in the

economy

The Industrial Development Bank
of India (IDBI) was set up to :
(A) Provide long-term finance to
industry

(B) Assist small-scale industries in
private sector

(C) Promote development of cottage
and village industries

(D) To re-finance the co-operative

banks
The Industrial Credit
Investment Corporation of India

(ICICI) is set up to :
(A)

and

Provide assistance for large and
heavy industries
(B) and

Promote mergers

acquisitions of companies
(C) Provide finance for export and
import trade
(D) Develop small and medium

industries in the private sector

53.

54.

(A) hHelieicl HeMER AR IRum
EEEGISIL

(B) S1Haddial Tl <qer =70

(a) [aV N

(C) ITEEdA SRS HHT ol

e Ja)

[ehHddlel=dl QlldX

(D) STfFTEId

IERENRCEL]
T siefes o st (IDBID)
l_ ...................... WWW

(al o N

(A) JAMEAE SelehTet foqearar H

~

(B) WTEA &l o SENTHAT Had ]

[N

hican=n fasmEm

D

(C) < & 9
EERRECTU

oC

(D) WEHhRI S YAfqSen <o

T{E SR 90 9 s AeHes
(ICICI) = w91
HLOG ATl

(A) s 3T TSI SN HEd Hv)

(B) U= Grtheiientor STt qfagomd
EAEEIC|

(C) 3T ifvr farta SR famgeare
T

(D) @ISl &51d g A0 qegd SanT
fasfaa 3o
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55. The average number of man days | 55. HRAW A=A Hledld TISET &A=
lost per worker during industrial et HesIeh A G HITTRMEN
disputes in recent times in India g feamien THar = TEd S@n
from public sector was low as FH A, T FwEET g %
compared to private sector. w7
What can you say about this
observation ? (A) 7 e sl s1e
(A) This observation is true B) T g g% e
(B) This observation is false C) & fA0em % e RO
(C) This observation is incorrect it favaedia Aifedt  Suetey
because of lack of sufficient T
reliable data .

(D) This observation is applicable to D @ ﬁﬁ&m WHRTI sprearat==
post-reform period only FACESH T A

56. What can you say about the | 96. WRArdte Arenfits fawm o et
industrial development and HITESTII JHTE S AEailt gral i
dominating industries during that B/ ?
time period in India ? Sre=n o -

Match Accordingly : T
(i) 1955 to 1970s  (a)  Engineering Goods
Zo
(i)  1980-2000 (b)  Heavy and Basic
Industries (i)  1980-2000 (b) oSS T Y@YW M
(iii) Post-2000 period (c)  Software and (i) 2000 A FIAGE (c) WA T
Consumer Goods HigeaaR R
(d)  Primary Sector (d)  wiafass & o
| ) Industries @) @) Gid)
W AW © @
A © (@ ®)
B) @ ©© () B @ © @
@) ®) (@ (o < ® (@ (©
D (@ @ () D @ @ (©
22
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57. The strategic sale of public sector | 57. VSNL, IPCL 2731 HEsl-eh FHSea
enterprises such as VSNL, IPCL was ST R w
the part of .................. . HEHATT 9T I
(A) Modernisation Programme (A) wgﬁﬁ%‘{'ﬂ]
(B) Diversification Programme (B) fafasfiento
(C) Export Promotion Programme (C) Tafa waaH
(D) Privatisation Programme (D)
58. The National Housing Bank and | 58. U TefHAT s & A@Te a0
NABARD can be termed as .............. A Ul IEe.
(A) Under-rating Institutions (A) BHIURS e
(B) Refinancing Institutions (B) qAfdw geen
(C) Consulting Institutions (C) Heotrden Hee
(D) Export Financing Institutions (D) fafd foayraeer Feen
59. “Population as the ultimate resource | 59. ‘‘fasram@d=n sifaq @iq w=ourd
for development” is proposed by : dended’’ € HI0 Hied ?
(A) Coale and Hoover (A) I smfor geat
(B) Simon (B) @&EA
(C) Sidgwick (C) Tosifereh
(D) Caldwell (D) wicead
60. The theory of optimum population | g0 s sHearIT=N HETHIHIIR MR
based on maximisation of total AN R g I o 7
welfare was put forward by :
(A) Hirschmann (4) T
(B) Coale and Hoover (B) el S TR
(C) Sidgwick (QREGEIEED
(D) Malthus (D) Hieggq
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61.

62.

63.

64.

Provision for “environmental

protection” was included in the
Indian Constitution through the
42nd Constitutional Amendment
passed in ........cccevveeeens .

(A) 1956
(B) 1976
(C) 1986
(D) 1996

After 1965, the death rate in India
began to fall and India entered the
stage of the demographic

transition.
(A) 1st
(B) 2nd
(C) 3rd
(D) 4th

Panchayati Raj Institutions in India
are expected to emphasize :

(A) Cooperative planning
(B) Functional planning
(C) Multilevel planning
(D) Indicative planning

The fruits of the first Green
Revolution in India were generally
seen during :

(A) 1965-1970
(B) 1980-1985
(C) 1955-1965
(D) 1950-1955

61.

62.

63.

64.

" TIferRT WU’ WISl TG = FHTe
IR TSTEeAd 42T HeAIGeiHhd

I Hiell HSR el ?

(A) 1956
(B) 1976
(C) 1986
(D) 1996

1965 X, YRAW g T HHT 2% AT
for WA AR EAT R AT

TG AT shal.

(A) 1&0
(B) 2=
(C) 3=
(D) 4o

TRATd T9Ed U5 GEO qrehe g
20 AU 3T’ :

(A) TR FEsE

(B) sMfHe FEsH

(C) wg&a e

(D) fewmesis frsH

TRArdia gfecdl gRka widen %
HIYRUAU A1 hierEer fogd el :
(A) 1965 T 1970

(B) 1980 7 1985

(C) 1955 1 1965

(D) 1950 4 1955
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65. The Agricultural Prices Commission

has been renamed as :
(A)
(B)

Agricultural Costs Commission

Commission for Agricultural

Costs and Prices

(C) Agricultural Costs and Rural
Prices Commission
(D) Agricultural and Rural

Development Commission

66. During the Second Five Year Plan
to Eleventh Five Year Plan period,
the outlay on agriculture and allied
sectors has ranged between ..............
of the total plan outlay.

(A) 20%—35%
(B) 10%—25%
(C) 19%—24%
(D) 15%—25%

67. Which one of the following is not the
cause of sub-division and
fragmentation of land holdings in
India ?

(A) Pressure of population
(B) Decline of joint family system
(C) Impact of new technology

(D) Extensive indebtedness among

farmers

65.

66.

67.

FH oI SA™N ST YRR TR-ATHI

FHLOIT AT AR :

(A) I T= T

(B) ¥t ®¥ 9 feud =W
(C) ot @@= a T fRua ST
(D) FS 3 U fawE ST

T  3ThUSAT GoaTsieh Al hleeld

TR FISHT TGIdRl S Foer
(A) 20%—35%
(B) 10%—25%
(C) 19%—24%

(D) 15%—25%

ARATdd SfAaea=ar faarsa 9

qHSIHIUTE WTATAIDT DI HIOT
™ ?
(A) TREE=T YR

(B) Ui Hed Ugdel ol

(C) Afeq dogmmn 9o
(D) SIdh=THE Hraisitch ShoteTSIquT
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. A he followi f o o n .
68 _ r?ange t © O_ O.ng Sources_ % | 68. A @A qTOfTqRerSIT=i TeA =
irrigation in India in the descending
order in terms of their coverage : SMAER ST FHH M
tanks, canals, wells and tube-
wells qarre, ure, fafed sufor spu=elten
(A) Wells and Tube-wells, Tanks,
Canals (A) fafed sufor spoeitenr, TamE, e
(B) Wells and Tube-wells, Canals,
Tanks (B) fafedt snfor Huedient, a2, detra
(C) Canals, Tanks, Wells and Tube-
(C) W, dore, fafedt smfor sHuedien
wells 0
(D) Canals, Wells and Tube-wells, N
(D) TR, fafed sufor el qad
Tanks =
69. Consider the linear demand curve | 69. ¢ = 30 — 2P @ I8F AR ok A&
g = 30 — 2P. If P = 10, then the 2. Sk P = 10 3I8d, W Y9I
consumer’s surplus is : AR o 3 8d
(A) 20 (A) 20
(B) 30 (B) 30
(C) 15 (C) 15
D) 25 D) 25
70. Assume that the monopolist demand | 70. P = 80 — ¢ & HIQRGT AN 9% Tfaa
curve is given as P =80 — ¢ and B SR MC = 40 3, T FHAAT=
its MC = 40, then at the point of foiqure AmTofEl fped wEfaswal TEE
equilibrium, price elasticity is equal s -
to :
(A) 3
A) 3
(B) 4
(B) 4
) 5 ) 5
D) 1 D) 1
26
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71. In dual linear programming

problem for outputs maximisation of
a firm the dual variables are

interpreted as :

(A) Imputed unit price
(B) Imputed input price
(C) Actual unit price
(D) Actual input price

71. SENTHEE IR HEWH hIUIHESA

feroi arRiSH fe-<etrn safaaned s
qTar

(A) 7T The fermd
(B) i smeM fhwad
(C) 8 Tk foha
(D) TIY ARH fehwd

72. The following values are given in a | 72. Y =1 X 90d fg-= Y HATT @At
2-variable regression of Y on X : e feora omed -
¥ =100, X =200, §=02 Y =100, X =200, g=0.2
Then estimated value of intercept ol Bl SaSid Hed Rete
: I
is :
(A) 40 (A) 40
(C) 60 (C) 60
73. B in BLUE means : 73. BLUE Tl%ﬂﬂ B = 3:[%1: ST 3TF|?ﬁ :
(A) High R? value (A) R? % 51 e
(B) All co-efficients have positive )
sign (B) ¥d WEUh o1 fa=
(C) Standard error of the estimator (C) STeher el AMhIe fhAM 3TR
is minimum . ) . .
) o (D) F =1 foud gEannsa g
(D) F wvalue 1is statistically
significant QLSRRG
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74. Autocorrelation problem occurs :

75.

(A) When lagged values are present

(B) When error terms are

independent

(C) When error terms either

increase or decrease

(D) When independent variables

are correlated

In a log-log model, 3 measures the

effect of :

(A) Unit change in X on unit

change in Y

(B) Percentage change in X on

percentage change in Y

(C) Unit change in X on percentage

change in Y

(D) Percentage change in X on unit

change in Y

74, TIHIUET TS hegl I][qHd ?

(A) & IS Jedral THeeT el

(B) Sl FIUQ recisl STEdTd

(C) Si&T 32t U aredrd fehal st grard

(D) Sl WEd TEEds A9

75. loglog THAME B @

TROM= A9E Sl

(A) Y HHicT 9idUshes &Igeidos BIUMT

X #Hid gfause ogd

(B) Y Wt gfaerd dea|es s

X gete giaed o

(C) Y weftal gfaerd deaes s

X #Hid gfauses agd

(D) Y HHieI Yidusheh &Igeidos BIOMT

X gete giaed o
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ROUGH WORK
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